

①

$$W = \frac{1}{r} C_{yke} E_y E_{ke} \quad (1)$$

$$= \frac{1}{r} C_{jike} E_{ji} E_{ke}$$

$$= \frac{1}{r} C_{jike} E_y E_{ke} \quad (2)$$

$$(1) + (2) = 2W = \frac{1}{r} (C_{yke} + C_{jike}) E_y E_{ke}$$

بما أن C_{yke} و C_{jike} هما نفس الشيء W $\therefore C_{yke} = C_{jike}$

$$\Rightarrow C_{yke} = C_{jike}$$

$$\Rightarrow C_{yke} = C_{jek}$$

$$W = \frac{1}{r} C_{yke} E_y E_{ke}$$

$$= \frac{1}{r} C_{yke} E_{ke} E_y \quad (1)$$

$$= \frac{1}{r} C_{keij} E_{ke} E_y \quad (2)$$

$$(1) + (2) = 2W = \frac{1}{r} (C_{yke} + C_{keij}) E_{ke} E_y$$

بما أن C_{yke} و C_{keij} هما نفس الشيء W $\therefore C_{yke} = C_{keij}$

$$\Rightarrow C_{yke} = C_{keij}$$

$$\Rightarrow \text{نفس الشيء} \rightarrow \text{نفس الشيء}$$

(7)

$$\rho \frac{De}{Dt} = T_{ij} D_{ij} - \frac{\partial q_i}{\partial x_i}$$

$$\rho_0 e = W \quad \& \quad e = \frac{W}{\rho_0}$$

$$\Rightarrow \rho \frac{De}{Dt} = \frac{\rho}{\rho_0} \frac{DW}{Dt} \frac{1}{\rho/\rho_0 = 1 + E_{ij} \epsilon_{ij}} \frac{DW}{Dt}$$

$$\Rightarrow T_{ij} D_{ij} = \frac{DW}{Dt} \quad (1.14)$$

$$= \frac{\partial W}{\partial E_{ij}} \frac{DE_{ij}}{Dt}$$

$$= \frac{\partial W}{\partial E_{ij}} D_{ij}$$

$$\Rightarrow T_{ij} = \frac{\partial W}{\partial E_{ij}} = \frac{\partial}{\partial E_{ij}} (C_{pqrs} E_{pq} E_{rs})$$

$$= \frac{1}{r} C_{pqrs} (S_{ip} \delta_{ij} E_{rs} + S_{ir} \delta_{js} E_{pq})$$

$$= \frac{1}{r} (C_{jrs} E_{rs} + C_{pqj} E_{pq})$$

$$= \frac{1}{r} (C_{jrs} E_{rs} + C_{jprq} E_{pq})$$

$$= \frac{1}{r} (C_{jrs} E_{rs} + C_{jrs} E_{rs}) = C_{jrs} E_{rs} \quad 1.15$$

14

$$\begin{aligned}\frac{DE}{Dt} &= \frac{1}{r} \frac{D}{Dt} \left(\frac{\partial u_i}{\partial x_j} + \frac{\partial u_j}{\partial x_i} \right) \\&= \frac{1}{r} \left(\frac{\partial}{\partial x_j} \left(\frac{Du_i}{Dt} \right) + \frac{\partial}{\partial x_i} \left(\frac{Du_j}{Dt} \right) \right) \\&= \frac{1}{r} \left(\frac{\partial v_i}{\partial x_j} + \frac{\partial v_j}{\partial x_i} \right) \\&= D_{ij}\end{aligned}$$

④

F, E, T
 F', E', T'

نہ حرکت ملے
 نہ حرکت ملے

$$F' = Q F Q^T \quad \& \quad E' = Q E Q^T \quad \& \quad T' = Q T Q^T$$

اگر Q ایک مائٹر مکعبہ عنصر ہے تو اس کے لیے $Q^{-1} = Q^T$ ہوتا ہے

$$Q' = Q^T \Rightarrow E' = Q'^T E Q'$$

$$\Rightarrow E'_{pq} = Q'^T_{pk} E_{ke} Q'_{eq} = Q'_{kp} Q'_{eq} E_{ke}$$

$$T' = Q'^T T Q' \Rightarrow T = Q' T' Q'^T$$

$$\Rightarrow T_{ij} = Q'_{ir} T'_{rs} Q'^T_{sj} = Q'_{ir} Q'_{js} T'_{rs}$$

$$\begin{aligned} T'_{rs} &= C_{rs pq} E'_{pq} \\ &= Q'_{ke} Q'_{eq} Q'_{ir} Q'_{js} C_{rs pq} E_{ke} \\ &= C_{yke} E_{ke} \end{aligned}$$

$$\Rightarrow C_{yke} = Q'_{ke} Q'_{eq} Q'_{ir} Q'_{js} C_{rs pq}$$

$$\begin{aligned} \Rightarrow C_{pqrs} &= Q'_{pi} Q'_{qj} Q'_{rk} Q'_{se} C_{ijke} \\ &= M_{pi} M_{qj} M_{rk} M_{se} C_{ijke} \end{aligned}$$

$$= \bar{C}_{pqrs} \Rightarrow \bar{C} = C = \text{تبدیل کے تحت}$$